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Sample Paper – 2011
Class – IX
Subject – Mathematics
 (Quadrilateral)
MCQ
Q1. Diagonals of rhombus bisect each other at:

(a) Right  angle     (b) Any  angle    (c)  Obtuse angle     (d) Acute angle

Q2. ABCD and AEFG are both parallelograms. If (C = 60° then the value of ( F is equal to 

(a)  60°   (b)  120°   (c)   80°    (d)   90°[image: image1.png]c
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Q3. ABCD is a rhombus ( ABC = 40°. The measure of (ACD is:

(a) 90°   (b)  20°   (c)  40°   (d)  70°

Q4. M and N are mid points of sides AB and AC. If the length of BC is 15 cm, then length of MN is:

(a) 15/4 cm   (b) 7.5 cm   (c)  15/3 cm   (d)  15.05 cm[image: image2.png]



Q5. Which of the following is not true for a parallelogram?

(a) Opposite sides are equal   (b) opposite angles are equal

(b) Opposite angles are bisected by the diagonals  (d) diagonals bisect each other

2 Mark Question
Q6. Prove that diagonals of a parallelogram divide it into two congruent triangles.

Q7. The angles of quadrilateral are in the ratio 3:5:9:13. Find all the angles of the quadrilateral.

Q8. Show that the diagonals of a rhombus are perpendicular to each other.

3 Mark Questions
Q9. ABCD is a parallelogram in which E is the midpoint of AD. DF(( EB, meeting AB produced in F and BC at L. Prove that DF = 2 DL.

Q10. ABCD is a trapezium in which AB(( DC and ( A = ( B = 45°. Find angles C and D of the trapezium.

Q11. P is the midpoint of side BC of a parallelogram ABCD such that ( BAP =( DAP. Prove that AD = 2CD.[image: image3.png]



4 Mark Questions

Q12. ABCD is a parallelogram, P is a point on AD such that AP = 1/3 AD and Q is a point on BC such that CQ = 1/3 BC. Prove that AQCP is a parallelogram.

Q13. A diagonal of a parallelogram bisects one of its angles. Prove that it will bisect its opposite angle also.
Maths (Linear Equation IX Class)
MCQ
Q1. x= 5, y= 2 is a solution of the linear equation:

(a) x+2y =7       (b)  5x + 2y = 7     (c)  x+y=7   (d)  5x + y = 7

Q2. Any point on the y axis is of the form 

(a) (x,0)     (b) (x,y)   (c)  (0,y)   (d)  (y,y)

Q3. The graph of the linear equation 2x + 3y = 6 is a line which meets the y axis at:

(a) (0,2)      (b) (2,0)   (c)  (3,0)     (d)  (0,3)

Q4.The graph of y = 2x will:

(a) Pass through origin   (b) intersect y axis   (c) intersect x axis   (d) None of these.

Q5. The equation -y=3, in two variable can be written as;

(a) 1.x+ 1.y = 3   (b) 0.x – 1.y =3     (c)  0.x + 1.y =3   (d)  1.x – 0.y=3

Q6. The value of p if x=2 and y=3 is a solution of the equation 2x + 4y=p:

(a)  4   (b)   6    (c) 16   (d) 18

Q7. The graph of x=4 is a straight line:

(a) Parallel to x axis    (b)  Parallel to y axis   (c) passes through origin   (d) None of these

Q8. If OA is the angle bisector of ( POQ, where ( POQ = 75°. Then the value of ( AOP is:

(a) 37.5°   (b)  38.5°   (c)   39.5°   (d)  40.5°

Q9. The construction of a triangle ABC, given that BC = 3cm, ( C = 60° is possible when difference of AB and AC is equal to:

(a) 3.2cm   (b) 3.5 cm   (c)  3.7 cm   (d) 2.7 cm

Q10. With the help of ruler and compass, it is possible to construct an angle of:

(a)  35°    (b)   40°   (c) 37.5°   (d)  47.5°

2 Mark Questions          
Q11. Draw the graph of the equation 2x + y = 4. From the graph find the value ox when y=6.

Q12. Draw a graph of line 2x – y = 4 and shade the triangular region formed by the two axis and the line.
Q13. Construct an angle of 75°.

3 Mark Questions                                  
Q14. Give the geometric representation of x = 4 as an equation (i) in one variable (ii) in two variables.

Q15. Construct a triangle ABC in which BC = 7.5 cm, ( B= 45° and AB – AC = 4cm.

Q16. Show that the points A (1, 2), B (-1, -16) and C (0,-7) lie on the graph of the linear equation y= 9x-7.

Q17. Construct a triangle PQR in which QR = 6cm, ( Q =60° and PR-PQ= 2cm

4 Mark Questions                                   
Q18. The force exerted to pull a cart is directly proportional to the acceleration produced in the body. Express the statement as a linear equation of two variables and draw the graph of the same by taking the constant mass equal to 6 kg. From the graph find the force required to produce an acceleration of (i) 5 m/s2 (ii) 6 m/s2 .

Q19. Construct a triangle with perimeter 10 cm and base angle 60° and 45° 
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